Garland Independent

GISD Sourcing Bid Tab

| Bid#: | 31637 | | |
|-------|-------|------------|-------------|
| | | 10- | ·17 Dry and |
| | | Title: Sta | aple Foods |

| I | EPCNI | Digocumt |
|---|-------------|------------------------|
| Quote# Vendor / Supplier 472484 ACH FOOD COMPANIES INC | | Discount |
| 472409 *ADVANCE SALES & MARKETING | Yes No | 0 0% |
| 472463 ADVANTAGE WAYPOINT LLC | application | 0% minim |
| 472463 ADVANTAGE WATPOINT LLC | Yes | minim 0% |
| 472388 APPLE AND EVE | YES | N/A |
| 472379 ASPIRE BEVERAGE COMPANY LLC | Yes | N/A 0 |
| 472379 ASPIRE BEVERAGE COMPANY LLC | Yes | 0 |
| 472472 BARILLA AMERICA INC | would | minimum |
| 472466 BRAUN BEEF CO INC | Yes | No catalog |
| 472380 BUENA VISTA FOOD PRODUCTS | Yes | No catalog |
| 472467 BUSH BROTHERS & COMPANY | No | 0 |
| 472480 C H GUENTHER & SON INC DBA | Yes | 2% 10 Net 30 |
| 472482 CAL-TEX CITRUS JUICE LLP | Yes | 2 % 10 Net 30 |
| 472342 CONAGRA FOODS INCORPORATED | No | N/A |
| 472448 CUSTOM CULINARY | No | N/A |
| 472457 DARLINGTON COOKIE COMPANY | No | N/A |
| 472481 ENVY BRANDS | Yes | N/A |
| 472468 *ES FOODS | Yes | 0 |
| 472347 GLOBAL FOODS INCORPORATED | Yes | Discou |
| 472387 GOOD SOURCE SOLUTIONS DBA | long as | see attached catalog |
| 472444 HANKS BROKERAGE | ves | 0 |
| 472443 IDAHO PACIFIC | ,,,, | All pricing is net net |
| | Yes | Th |
| 472465 INDIAN HARVEST SPECIALTIFOODS | Yes | 0 |
| 472435 J AND J SNACK FOODS CORP | No | no discounts |
| 472471 KENT PRECISION FOODS | Yes | Net 30 |
| 472349 MAGIC SEASONING BLENDS LLC | Yes | quantity fo |
| 472461 MARIANNE SCOTT SARGENT DBA | NO | N/A |
| 472344 MCLANE EXPRESS INCORPORATED | YES | 12% |
| 472479 MINMOR INDUSTRIES LLC DBA | Yes | 0% |
| 472456 NATIONAL FOOD GROUP INC | YES | NA |
| 472352 NEOSTAR USA LLC | Yes | Not applicable |
| 472449 NESTLE WATERS NORTH AMERICA | yes | 8oz/48 p |
| 472455 ROBBINS SALES COMPANY, INC. | ок | net 30 |
| 472458 SUGAR FOODS CORPORATION | No | N/A |
| 472483 SUNNY DELIGHT BEVERAGES CO | Yes | 0 |
| 472411 SUNNY SKY PRODUCTS LLC | Yes | pricing off |
| 472473 *THE MASTERS DISTRIBUTION | Yes | 10% |
| 472446 TYSON PREPARED FOODS INC | mutual | N/A |
| BYRNE BROTHERS FOOD, INC. | no | |
| *CHURCHFIELD TRADING CO. | no | |
| | | |

3TQ - Tast Quality of Product unacceptable 1NL - Not low when unit price is calculated 9PS - Failed to Provide Product Sample

4NS - Not to Specifications

1NOL - Not Overall Low Vendor(s) on bid and/or sample items

*Confidential

| | | | | | Cornidential | | | |
|-------|--|------------------|--------|-----|--------------------------------|------|---------|-------------------|
| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
| 1 | APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR UNSWEETENED, 6/#10 CANS | N | 3TQ | cs | HANKS BROKERAGE | 1500 | \$16.75 | \$25,125.00 |
| | | N | 3TQ | cs | ROBBINS SALES COMPANY, INC. | 1500 | \$16.88 | \$25,320.00 |
| | | Y | | cs | BYRNE BROTHERS FOODS, INC | 1500 | \$18.21 | \$27,315.00 |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|---|------|---------|-------------------|
| | | | | cs | *CHURCHFIELD TRADING CO. | 1500 | | \$0.00 |
| 2 | BARBECUE SAUCE, HICKORY SMOKED, LOW SODIUM, 4/1 GAL | Y | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$17.58 | \$3,516.00 |
| | | | | cs | BRAUN BEEF CO INC | 200 | 29.346 | 5869.2 |
| 3 | BEANS, BLACK, LOW SODIUM, NO MORE THAN 100MG PER SERVING, 6/#10 CANS PER CASE | Y | | cs | BYRNE BROTHERS FOODS, INC | 800 | \$17.98 | \$14,384.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 800 | \$18.09 | \$14,472.00 |
| | | | | cs | BRAUN BEEF CO INC | 800 | 19.014 | 15211.2 |
| | | | | cs | BUSH BROTHERS & COMPANY | 800 | \$20.00 | \$16,000.00 |
| | | | | cs | CONAGRA FOODS INCORPORATED | 800 | \$22.21 | \$17,768.00 |
| 4 | BEANS, REFRIED, SMOOTH OR WHOLE BEAN STYLE, VEGETARIAN, LOW SODIUM, NO MORE THAN 200MG PER 1/2 CUP SERVING | Y | | CS | BASIC AMERICAN INC DBA BASIC AMERICAN FOODS | 500 | \$16.75 | \$8,375.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$25.11 | \$12,555.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$25.30 | \$12,650.00 |
| | | | | cs | CONAGRA FOODS INCORPORATED | 500 | \$29.46 | \$14,730.00 |
| | BUTTER FLAVORED GRANULES, SAUCE MIX, FAT FREE, CHOLESTEROL FREE, TRANS-FAT FREE, NO MORE THAN 85MG SODIUM PER 1 TSP, NO ARTIFICIAL INGREDIENTS, WATER MIXED, 48/20Z PKGS, BUTTER BUDS | | | | *ADVANCE SALES & MARKETING | | | |
| 5 | #20001 OR SIMILAR | Y | | cs | INCORPORATED | 200 | | |
| | | | | cs | BRAUN BEEF CO INC | 200 | 30.617 | 6123.4 |
| | CEREAL OR CEREAL BAR, | | | cs | MCLANE EXPRESS INCORPORATED MINMOR INDUSTRIES LLC | 200 | \$30.77 | \$6,154.00 |
| 6 | REDUCED SUGAR, 51% WHOLE GRAIN | N | 1NL | cs | DBA MELLO SMELLO LLC OLYMPAK NOTABLES | 1000 | \$0.73 | \$730.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|---|------|---------|-------------------|
| | | | | | GLOBAL FOODS | | | |
| | | N | 1NL | CS | INCORPORATED | 1000 | \$32.22 | \$32,220.00 |
| | | N | 1NL | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | Y | | cs | *ES FOODS | 1000 | | |
| 7 | BROWNIE, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN | NO AWARD | | cs | J AND J SNACK FOODS CORP | 1000 | \$19.00 | \$19,000.00 |
| | | | | cs | BUENA VISTA FOOD PRODUCTS | 1000 | \$32.75 | \$32,750.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$43.97 | \$43,970.00 |
| | | | | cs | BRAUN BEEF CO INC | 1000 | 44.096 | 44096 |
| | | | | cs | GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS | 1000 | \$75.87 | \$75,870.00 |
| 8 | CANNED JUICE SPARKLING, APPLE OR SIMILIAR FLAVOR, 100% JUICE, 24/12 OZ CAN | N | 1NL | cs | SUNNY DELIGHT BEVERAGES CO | 1000 | \$6.98 | \$6,980.00 |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$8.61 | \$8,610.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | cs | ENVY BRANDS | 1000 | \$10.57 | \$10,570.00 |
| | | | | cs | APPLE AND EVE | 1000 | \$11.00 | \$11,000.00 |
| 9 | CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILIAR FLAVOR, 100% JUICE, 24/12 OZ CANS | Y | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$8.61 | \$12,915.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | cs | ENVY BRANDS | 1500 | \$10.57 | \$15,855.00 |
| | | | | cs | APPLE AND EVE | 1500 | \$11.00 | \$16,500.00 |
| | | | | cs | BRAUN BEEF CO INC | 1500 | \$12.30 | \$18,450.00 |
| 10 | CANNED JUICE SPARKLING, GRAPE OR BERRY FLAVOR, 100% JUICE, 24/12 OZ CANS | N | 1NL | cs | SUNNY DELIGHT BEVERAGES CO | 1000 | \$6.98 | \$6,980.00 |

| l in o# | Item Description | Award | Daggar | UOM | Cumplies | Otiv | Price | Extended Price |
|---------|--|---------|--------|-----|-----------------------------------|------|---------|------------------------|
| Line# | item Description | (Y / N) | Reason | OOW | Supplier | Qty | Price | Price |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$8.61 | \$8,610.00 |
| | | • | | | | .000 | ψοιστ | ψο,στοισσ |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | | | | | |
| | | | | cs | ENVY BRANDS | 1000 | \$10.57 | \$10,570.00 |
| | | | | | | | | |
| | | | | cs | APPLE AND EVE | 1000 | \$11.00 | \$11,000.00 |
| | CANNED JUICE SPARKLING, KIWI/STRAWBERRY OR | | | | | | | |
| 11 | SIMILIAR FLAVOR, 100% JUICE, 24/12 OZ CANS | N | 1NL | cs | SUNNY DELIGHT BEVERAGES CO | 1500 | \$6.98 | \$10,470.00 |
| • • | 0010E, E471E 0E CANO | 14 | INL | | | 1000 | ψ0.50 | ψ10,410.00 |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$8.61 | \$12,915.00 |
| | | | | | *THE MASTERS | | | |
| | | | | cs | DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | | | | | |
| | | | | cs | ENVY BRANDS | 1500 | \$10.57 | \$15,855.00 |
| | | | | | | | | |
| | | | | CS | APPLE AND EVE | 1500 | \$11.00 | \$16,500.00 |
| | | | | cs | BRAUN BEEF CO INC | 1500 | \$12.30 | \$18,450.00 |
| | CANNED JUICE SPARKLING, | | | CS | BRAUN BEEF CO INC | 1500 | \$12.30 | \$16,450.00 |
| | ORANGE OR SIMILIAR FLAVOR, 100% JUICE, 24/12 | | | | SUNNY DELIGHT | | | |
| 12 | OZ CANS | N | 1NL | cs | BEVERAGES CO | 800 | \$6.98 | \$5,584.00 |
| | | | | | MCLANE EXPRESS | | | |
| | | Υ | | CS | INCORPORATED | 800 | \$8.61 | \$6,888.00 |
| | | | | - | *THE MASTERS | 000 | | |
| | | | | CS | DISTRIBUTION SYSTEMS | 800 | | |
| | | | | cs | ENVY BRANDS | 800 | \$10.57 | \$8,456.00 |
| | | | | 55 | | | Ţ.0101 | + 2, 100.00 |
| | | | | cs | APPLE AND EVE | 800 | \$11.00 | \$8,800.00 |
| | | | | | | | | |
| | | | | cs | BRAUN BEEF CO INC | 800 | \$12.30 | \$9,840.00 |
| | CANNED JUICE SPARKLING, | | | | | | | |
| 13 | LEMON OR CITRUS FLAVOR, 100% JUICE, 24/12 OZ CANS | N | 1NL | cs | SUNNY DELIGHT BEVERAGES CO | 1000 | \$6.98 | \$6,980.00 |
| 13 | 100% 3010E, 24/12 02 CANS | 14 | TINL | 03 | | 1000 | φυ.30 | φυ,3ου.00 |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$8.61 | \$8,610.00 |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|--------------------------------------|------|---------|-------------------|
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | cs | ENVY BRANDS | 1000 | \$10.57 | \$10,570.00 |
| | | | | cs | APPLE AND EVE | 1000 | \$11.00 | \$11,000.00 |
| | CANNED JUICE SPARKLING, CHERRY, POMGRANATE OR SIMILIAR FLAVOR, 100% | | | | SUNNY DELIGHT | | | |
| 14 | JUICE, 24/12 OZ CANS | N | 1NL | CS | BEVERAGES CO | 1000 | \$6.98 | \$6,980.00 |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$8.61 | \$8,610.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | | | | | |
| | | | | CS | ENVY BRANDS | 1000 | \$10.57 | \$10,570.00 |
| | | | | cs | APPLE AND EVE | 1000 | \$11.00 | \$11,000.00 |
| 15 | CROUTONS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 250/CS | NO AWARD | | cs | BRAUN BEEF CO INC | 100 | \$16.93 | \$1,693.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 100 | \$20.94 | \$2,094.00 |
| | | | | cs | SUGAR FOODS CORPORATION | 100 | \$22.20 | \$2,220.00 |
| 16 | CEASAR DRESSING, P.C., MAXIMUM 8 GR FAT PER TABLESPOON | Y | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$18.00 | \$900.00 |
| 17 | CEASAR DRESSING, BULK, LOW FAT, 4/1 GAL | Y | | cs | BYRNE BROTHERS FOODS, INC | 75 | \$51.00 | \$3,825.00 |
| | CEREAL, SWEETENED, MARSHMALLOW FLAVOR, BOWL PACK, 96/CS, LOW | | | | | | | |
| 18 | SUGAR PREFERRED | Υ | | CS | BRAUN BEEF CO INC | 1000 | \$16.43 | \$16,430.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$17.13 | \$17,130.00 |
| | | | | | BYRNE BROTHERS FOODS, INC | 1000 | \$18.72 | \$18,720.00 |
| | CEREAL, SWEETENED, CHOCOLATE COCOA FLAVOR, BOWL PACK, 96/CS,LOW SUGAR | | | | | | | |
| 19 | PREFERRED | Υ | | cs | BRAUN BEEF CO INC | 2000 | \$16.43 | \$32,860.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|--------------------------------------|------|----------------|-------------------|
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 2000 | | |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 2000 | \$17.13 | \$34,260.00 |
| 20 | CEREAL, SWEETENED, FROSTED FLAKES FLAVOR, BOWL PACK, 96/CS, LOW SUGAR PREFERRED | Υ | | cs | BRAUN BEEF CO INC | 1000 | \$16.43 | \$16,430.00 |
| 20 | SOSAK TREI ERRED | • | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | \$10.40 | Ψ10,400.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$17.13 | \$17,130.00 |
| 21 | CEREAL, SWEETENED, FRUIT FLAVOR, BOWL PACK, 96/CS, LOW SUGAR PREFERRED | Y | | cs | BRAUN BEEF CO INC | 1200 | \$16.43 | \$19,716.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1200 | | · |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1200 | \$17.13 | \$20,556.00 |
| 22 | CEREAL, SWEETENED, HONEY AND NUT FLAVOR, BOWL PACK, 96/CS, LOW SUGAR PREFERRED | Y | | cs | BRAUN BEEF CO INC | 1800 | \$16.43 | \$29,574.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1800 | | |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1800 | \$17.13 | \$30,834.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1800 | \$18.72 | \$33,696.00 |
| 23 | CEREAL, SWEETENED, HONEY GRAHAM FLAVOR, BOWL PACK, 96/CS, LOW SUGAR PREFERRED | Y | | cs | BRAUN BEEF CO INC | 1500 | \$16.43 | \$24,645.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$17.13 | \$25,695.00 |
| | CEDEAL SWEETENED | | | cs | BYRNE BROTHERS FOODS, INC | 1500 | \$18.72 | \$28,080.00 |
| 24 | CEREAL, SWEETENED, CINNAMON RICE CHEX OR SIMILIAR, BOWL PACK, 96/CS, LOW SUGAR PREFERRED, | | | 00 | | 4500 | *** | ¢04 845 99 |
| 24 | GLUTEN FREE | Υ | | CS | BRAUN BEEF CO INC | 1500 | \$16.43 | \$24,645.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|--------------------------------------|------|---------|-------------------|
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$17.13 | \$25,695.00 |
| 25 | CHEESE, PARMESAN, GRATED, 5 LB | Y | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$79.98 | \$15,996.00 |
| 26 | COFFEE, REGULAR GRIND 8/31b OR 8/39oz VACUUM CANS PER CASE | Y | | cs | BYRNE BROTHERS FOODS, INC | 100 | \$64.00 | \$6,400.00 |
| 27 | CORNBREAD STUFFING MIX, CORNBREAD AND WHEAT BREAD BLEND, 51% WHOLE GRAIN, NO TRANS FAT, HOT WATER PREPARED | N | 9PS | cs | BYRNE BROTHERS FOODS, INC | 500 | \$24.13 | \$12,065.00 |
| | | Υ | | cs | BRAUN BEEF CO INC | 500 | \$27.51 | \$13,755.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$27.53 | \$13,765.00 |
| | | | | cs | SUGAR FOODS CORPORATION | 500 | \$50.51 | \$25,255.00 |
| | | | | cs | KENT PRECISION FOODS INCORPORATED | 500 | \$63.37 | \$31,685.00 |
| 28 | DRESSING, JALAPENO RANCH, P.C., 1 OZ, 100/CS | Y | | cs | BYRNE BROTHERS FOODS, INC | 100 | \$15.00 | \$1,500.00 |
| 29 | CRACKERS, SALTINE, 51% WHOLE GRAIN, IW,ORDERED IN QUANTITIES OF 150 CS EVERY TWO WEEKS | Y | | cs | MCLANE EXPRESS INCORPORATED | 1200 | \$10.08 | \$12,096.00 |
| | | | | cs | BRAUN BEEF CO INC | 1200 | 14.718 | 17661.6 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1200 | \$16.00 | \$19,200.00 |
| 30 | CRANBERRY SAUCE, JELLIED, 6/#10 CANS | Y | | cs | BYRNE BROTHERS FOODS, INC | 150 | \$39.16 | \$5,874.00 |
| 31 | INDIVIDUAL PACKAGES, 2.5 OZ, SWEETENED, STRAWBERRY FLAVOR, FAT | Y | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$42.00 | \$21,000.00 |
| 32 | CROUTONS, SEASONED, 51% WHOLE GRAIN, LARGE CUT, 10# CONTAINER | N | 9PS | cs | BYRNE BROTHERS FOODS, INC | 100 | \$19.34 | \$1,934.00 |
| | | Y | | cs | SUGAR FOODS CORPORATION | 100 | \$20.01 | \$2,001.00 |
| 33 | FLOUR ENRICHED, ALL PURPOSE, 25# BAG | Y | | cs | BYRNE BROTHERS FOODS, INC | 400 | \$6.98 | \$2,792.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|----------|---|------------------|--------|------|---------------------------------------|------|----------|-------------------|
| | | | | | | | | |
| | | | | BG | MCLANE EXPRESS INCORPORATED | 400 | \$7.89 | \$3,156.00 |
| | | | | | | | | , , |
| 34 | FLOUR, WHOLE WHEAT, 25# BAG | Υ | | BG | MCLANE EXPRESS INCORPORATED | 400 | \$8.77 | \$3,508.00 |
| | | | | | DVDNE DDOTHEDS | | | |
| | | | | BG | BYRNE BROTHERS FOODS, INC | 400 | \$16.98 | \$6,792.00 |
| | FOOD COLORING, GREEN, QT | | | | BYRNE BROTHERS | | | |
| 35 | PK | Υ | | EA | FOODS, INC | 50 | \$7.88 | \$394.00 |
| | FRUIT COCKTAIL, FANCY, EXTRA LIGHT SYRUP OR | | | | | | | |
| | PACKED IN JUICE, 6/#10 | | | | ROBBINS SALES | | | |
| 36 | CANS | Υ | | CS | COMPANY, INC. | 2000 | \$26.88 | \$53,760.00 |
| | | | | | BYRNE BROTHERS | | ^ | 454 000 00 |
| | | | | CS | FOODS, INC | 2000 | \$27.44 | \$54,880.00 |
| | | | | cs | HANKS BROKERAGE | 2000 | \$27.75 | \$55,500.00 |
| | | | | 03 | HARRO BROKERAGE | 2000 | φ21.13 | φ33,300.00 |
| | | | | cs | *CHURCHFIELD TRADING CO. | 2000 | | \$0.00 |
| | | | | - 55 | | 2000 | | ψ0.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 2000 | \$39.11 | \$78,220.00 |
| | | | | | | | , , , , | , ,, , |
| | | | | cs | BRAUN BEEF CO INC | 2000 | \$39.44 | \$78,880.00 |
| | INDIVIDUALLY PACKAGED, | | | | GOOD SOURCE | | | |
| 37 | SHELF STABLE, 4.5 OZ. JUICE PACKED, SHELF STABLE | Υ | | cs | SOLUTIONS DBA TOOLS FOR SCHOOLS | 500 | \$33.21 | \$16,605.00 |
| | DIPPERS, BEAN AND YOGURT, RANCH FLAVOR, | | | | | | | |
| 38 | 1.75 OZ, 120 CUPS/CS | NB | | | | 0 | \$0.00 | \$0.00 |
| | DIPPERS, BEAN AND YOGURT, FIESTA CHILI LIME, | | | | *CHURCHFIELD TRADING | | | |
| 39 | 1.75 OZ, 120 CUPS/CS | Υ | | | CO. | 200 | | \$0.00 |
| | GRANOLA, BULK, GLUTEN FREE OR NO WHEAT | | | | | | | |
| 40 | INGREDIENTS | N | зто | CS | BRAUN BEEF CO INC | 500 | 23.575 | 11787.5 |
| | | | | | MCLANE EXPRESS | | | |
| | | Υ | | cs | INCORPORATED | 500 | \$29.07 | \$14,535.00 |
| | | | | | MARIANNE SCOTT SARGENT DBA SARGENT | | | |
| | | | | CS | FOODS LLC | 500 | \$54.72 | \$27,360.00 |
| | | | | | BYRNE BROTHERS | | . | |
| | PACKAGED, 51% WHOLE | | | CS | FOODS, INC MARIANNE SCOTT | 500 | \$65.95 | \$32,975.00 |
| | GRAIN, LOW FAT, GLUTEN | | | | SARGENT DBA SARGENT | 500 | ** | 4465.65 |
| 41 | FREE OR NO WHEAT | N | 1NL | EA | FOODS LLC | 500 | \$0.25 | \$125.00 |
| | | v | | E.A. | *F6 F00D6 | 500 | | |
| <u> </u> | <u> </u> | Υ | | EA | *ES FOODS | 500 | | |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|-------------------|-----|--|------|---------|-------------------|
| | | Υ | Alt: Skeeter 3210 | EA | MCLANE EXPRESS INCORPORATED | 500 | \$32.65 | \$16,325.00 |
| | | | | EA | BRAUN BEEF CO INC | 500 | \$36.80 | \$18,399.00 |
| | | | | EA | BYRNE BROTHERS FOODS, INC | 500 | \$39.40 | \$19,700.00 |
| | | | | EA | *THE MASTERS DISTRIBUTION SYSTEMS | 500 | | |
| 42 | GRAPE JELLY P.C. 1.5 OZ, SHELF STABLE | Υ | | cs | MCLANE EXPRESS INCORPORATED | 2500 | \$9.07 | \$22,675.00 |
| | STYLE, LOW FAT, 6/24 OZ. NO | | | cs | BYRNE BROTHERS FOODS, INC C H GUENTHER & SON INC | 2500 | \$9.18 | \$22,950.00 |
| 43 | TRANS FAT, NO MORE THAN 250MG SODIUM PER 1/4 CUP | Υ | | cs | DBA PIONEER FLOUR MILLS | 1000 | \$12.00 | \$12,000.00 |
| | | | | cs | CUSTOM CULINARY INCORPORATED | 1000 | \$15.01 | \$15,010.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$19.05 | \$19,050.00 |
| | | | | cs | KENT PRECISION FOODS INCORPORATED | 1000 | \$30.98 | \$30,980.00 |
| 44 | HUMMUS CUPS, 1.9 OZ, FULLY PREPARED, READY TO EAT, SHELF STABLE | Y | | cs | *CHURCHFIELD TRADING CO. | 200 | | \$0.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$64.80 | \$12,960.00 |
| 45 | HONEY, PACKED 4/1 GAL. OR 8 1/2 GAL. | Y | | cs | BYRNE BROTHERS FOODS, INC | 300 | \$88.00 | \$26,400.00 |
| 46 | DRESSING, HONEY MUSTARD, PC, 1.5 OZ, 100/CS | Υ | | cs | MCLANE EXPRESS INCORPORATED | 100 | \$12.05 | \$1,205.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 100 | \$24.50 | \$2,450.00 |
| 47 | ITALIAN DRESSING, LIGHT, P.C. 12 GRAM, 200/CS | N | 9PS | cs | MCLANE EXPRESS INCORPORATED | 200 | \$9.95 | \$1,990.00 |
| | | Υ | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$10.55 | \$2,110.00 |
| | | | | cs | ACH FOOD COMPANIES | 200 | \$21.34 | \$4,268.00 |
| 48 | ITALIAN DRESSING, P.C. 1 OZ, 100/CS | N | 9PS | cs | MCLANE EXPRESS INCORPORATED | 100 | \$8.95 | \$895.00 |

| | | Award | | | | | | Extended |
|-------|---|-------|--------|-----|--------------------------------|-----|---------|-------------|
| Line# | Item Description | (Y/N) | Reason | UOM | Supplier | Qty | Price | Price |
| | | N | 9PS | cs | BYRNE BROTHERS FOODS, INC | 100 | \$18.13 | \$1,813.00 |
| | | Υ | | cs | ACH FOOD COMPANIES | 100 | \$18.98 | \$1,898.00 |
| 49 | SLICED, LOW SODIUM, 6/#10 CAN, DOMESTIC PACKED ONLY IN WATER OR | Υ | | CN | HANKS BROKERAGE | 600 | \$20.10 | \$12,060.00 |
| | | | | CN | BYRNE BROTHERS FOODS, INC | 600 | \$20.28 | \$12,168.00 |
| | | | | CN | *CHURCHFIELD TRADING CO. | 600 | | \$0.00 |
| | | | | CN | BRAUN BEEF CO INC | 600 | \$24.67 | \$14,801.40 |
| | ADDLE ILIGE CUELE | | | CN | CONAGRA FOODS INCORPORATED | 600 | \$43.22 | \$25,932.00 |
| 50 | APPLE JUICE, SHELF STABLE, 100% JUICE, 4.23 OZ. 44/CS. | Υ | | cs | APPLE AND EVE | 500 | \$6.40 | \$3,200.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$7.19 | \$3,595.00 |
| | | | | cs | CAL-TEX CITRUS JUICE LLP | 500 | \$7.25 | \$3,625.00 |
| | | | | cs | BRAUN BEEF CO INC | 500 | 8.149 | 4074.5 |
| | JUICE, ORANGE OR SIMILAR, | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$10.55 | \$5,275.00 |
| 51 | SHELF STABLE, 100% JUICE, 4.23 OZ. 44/CS | Υ | | cs | APPLE AND EVE | 500 | \$6.40 | \$3,200.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$7.19 | \$3,595.00 |
| | | | | cs | CAL-TEX CITRUS JUICE LLP | 500 | \$7.25 | \$3,625.00 |
| | | | | cs | BRAUN BEEF CO INC | 500 | 8.149 | 4074.5 |
| | HILCE MIVED FOLUE OF FAR | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$20.25 | \$10,125.00 |
| 52 | JUICE, MIXED FRUIT, CLEAR OR LIGHT COLOR 100% JUICE, SHELF STABLE, 4.23 OZ. 44/CS. | Y | | cs | APPLE AND EVE | 500 | \$6.40 | \$3,200.00 |
| | | | | | MCLANE EXPRESS INCORPORATED | 500 | \$7.19 | |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|------|-----------------------------------|------|---------------|-------------------|
| | | (| | | oupp | | | 7 7 7 7 7 |
| | | | | | CAL-TEX CITRUS JUICE | | 4 - 4- | 40.00=.00 |
| | | | | CS | LLP | 500 | \$7.25 | \$3,625.00 |
| | | | | | | | | |
| | MULOU E CEOMENTO CHAO | | | CS | HANKS BROKERAGE | 500 | \$26.75 | \$13,375.00 |
| | WHOLE SEGMENTS, 6/#10 CANS, PACKED IN 100% | | | | | | | |
| 53 | JUICE, WATER OR LIGHT | N | 9PS | CS | NEOSTAR USA LLC | 5000 | \$19.84 | \$99,200.00 |
| | | | | | ROBBINS SALES | | | |
| | | Υ | | cs | COMPANY, INC. | 5000 | \$20.64 | \$103,200.00 |
| | | | | | BYRNE BROTHERS | | | |
| | | | | cs | FOODS, INC | 5000 | \$20.68 | \$103,400.00 |
| | | | | | | | | |
| | | | | cs | HANKS BROKERAGE | 5000 | \$22.15 | \$110,750.00 |
| | | | | | | | · | |
| | | | | cs | *CHURCHFIELD TRADING CO. | 5000 | | \$0.00 |
| | | | | - 00 | | 0000 | | ψ0.00 |
| | | | | 00 | *CHURCHFIELD TRADING | 5000 | | #0.00 |
| | | | | CS | COALT GOOD SOURCE | 5000 | | \$0.00 |
| | | | | | SOLUTIONS DBA TOOLS | | | |
| | | | | CS | FOR SCHOOLS | 5000 | \$26.45 | \$132,250.00 |
| | MARASCHINO CHERRIES, | | | | | | | |
| 54 | HALVES, 6(1/2 GAL) PER CS | N | 9PS | CN | HANKS BROKERAGE | 200 | \$41.00 | \$8,200.00 |
| | | | | | BYRNE BROTHERS | | | |
| | | Υ | | CN | FOODS, INC | 200 | \$44.00 | \$8,800.00 |
| | | | | | BYRNE BROTHERS | | | |
| 55 | MAYONNAISE, LIGHT, 4/1 GAL | Υ | | cs | FOODS, INC | 400 | \$25.98 | \$10,392.00 |
| | SALAD, PRE-PACKAGED | | | | | | | |
| 56 | LUNCH MEAL, SHELF STABLE, ES FOODS #61421 | Υ | | cs | *ES FOODS | 500 | | |
| | | | | | | | | |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 500 | | |
| | | | | 03 | DIGITION STSTEMS | 300 | | |
| - | MUSTARD, FANCY, P.C., 4.5 | | | | BYRNE BROTHERS | 4000 | Φ 7.00 | ¢7 000 00 |
| 57 | GRAM, 500/CS | Υ | | | FOODS, INC | 1000 | \$7.00 | \$7,000.00 |
| | | | | | MCLANE EXPRESS | | | |
| | | | | CS | INCORPORATED | 1000 | \$7.93 | \$7,930.00 |
| | NON-DAIRY CREAMER, PC, | | | | BYRNE BROTHERS | | | |
| 58 | N'JOY OR EQUAL | Υ | | cs | FOODS, INC | 75 | \$20.78 | \$1,558.50 |
| | | | | | SUGAR FOODS | | | |
| | | | | cs | CORPORATION | 75 | \$33.15 | \$2,486.25 |

| | | Award | | | | | | Extended |
|-------|---|---------|--------|-----|--|------|---------|-------------|
| Line# | Item Description | (Y / N) | Reason | UOM | Supplier | Qty | Price | Price |
| 59 | OATMEAL BARS, STRAWBERRY, SOFT, 51% WHOLE GRAIN, INDIVIDUALLY PACKAGED, DARLINGTON APPLEWAYS OR EQUAL | N | 4NS | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$36.85 | \$36,850.00 |
| | | Υ | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$47.00 | \$47,000.00 |
| | | | | cs | DARLINGTON COOKIE COMPANY INC | 1000 | \$55.12 | \$55,120.00 |
| 60 | PAN RELEASE, AEROSOL, HIGH YIELD, 6/14 OZ. | Y | | cs | ADVANTAGE WAYPOINT LLC | 800 | \$12.75 | \$10,200.00 |
| | | | | cs | CONAGRA FOODS INCORPORATED | 800 | \$18.67 | \$14,936.00 |
| | | | | cs | *ADVANCE SALES & MARKETING INCORPORATED | 800 | | |
| 61 | MUFFIN MIX, VARIETY, 51% WHOLE GRAIN, GOLD MEDAL OR EQUAL | Υ | | cs | C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS | 500 | \$33.05 | \$16,525.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$53.50 | \$26,750.00 |
| 62 | PASTA, ROTINI, 51% WHOLE GRAIN, BARILLA OR EQUAL | Y | | cs | BARILLA AMERICA INC | 300 | \$14.65 | \$4,395.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 300 | \$15.15 | \$4,545.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 300 | \$22.88 | \$6,864.00 |
| | OATMEAL BARS, BLUEBERRY POMEGRANATE, SOFT, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN, DARLINTON | | | | BYRNE BROTHERS | | | |
| 63 | APPLEWAYS OR EQUAL | N | 4NS | cs | FOODS, INC | 1000 | \$43.98 | \$43,980.00 |
| | | Υ | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| | | | | cs | DARLINGTON COOKIE COMPANY INC | 1000 | \$55.12 | \$55,120.00 |
| 64 | PASTA, PENNE, 1 1/2", 51% WHOLE GRAIN 20# BOX, BARILLA OR EQUAL | Y | | cs | BARILLA AMERICA INC | 500 | \$14.65 | \$7,325.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$15.09 | \$7,545.00 |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|--------------------------------|------|--------------------|----------------------------|
| | | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$23.80 | \$11,900.00 |
| 65 | PEACHES SLICED, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10 CANS, GRADE B | Υ | | cs | ROBBINS SALES COMPANY, INC. | 3500 | \$25.44 | \$89,040.00 |
| | | | | cs | HANKS BROKERAGE | 3500 | \$26.30 | \$92,050.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 3500 | \$28.44 | \$99,540.00 |
| | | | | cs | *CHURCHFIELD TRADING CO. | 3500 | | \$0.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 3500 | \$35.27 | \$123,445.00 |
| 66 | OLIVE OIL BLEND, 6/1 GALLON, ALPHA GOLD | N | 1NL | cs | HANKS BROKERAGE | 50 | \$40.80 | |
| | | Y | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$54.00 | \$2,700.00 |
| 27 | PEARS, DICED, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6/#10 CANS, | | | | BYRNE BROTHERS | 222 | | |
| 67 | BARTLETT, GRADE B | Υ | | | FOODS, INC HANKS BROKERAGE | 800 | \$23.44 \$23.75 | \$18,752.00 \$19,000.00 |
| | | | | cs | ROBBINS SALES COMPANY, INC. | 800 | \$24.24 | \$19,392.00 |
| | | | | cs | *CHURCHFIELD TRADING CO. | 800 | | \$0.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 800 | \$37.73 | \$30,184.00 |
| 68 | PEAS, BLACKEYED, 6/#10 CANS, FRESH PACK W/SNAPS, FANCY | Y | | cs | BUSH BROTHERS & COMPANY | 1000 | \$19.50 | \$19,500.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$19.98 | \$19,980.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$22.11 | \$22,110.00 |
| 69 | PICKLES, DILL, SLICED, 4/1GL OR POUCH PAK, REDUCED SODIUM PREFERRED | Υ | | cs | BYRNE BROTHERS FOODS, INC | 800 | \$17.28 | \$13,824.00 |
| 70 | PINEAPPLE TIDBITS, 6/#10 CANS, NATURAL JUICE PACK, GRADE A | Y | | | ROBBINS SALES COMPANY, INC. | 2500 | \$24.88 | \$62,200.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|--|------|---------|-------------------|
| | | | | cs | HANKS BROKERAGE | 2500 | \$27.20 | \$68,000.00 |
| | | | | | BYRNE BROTHERS | | | |
| | | | | CS | FOODS, INC | 2500 | \$28.44 | \$71,100.00 |
| | PINTO BEANS, LOW SODIUM, | | | cs | *CHURCHFIELD TRADING CO. | 2500 | | \$0.00 |
| | NO MORE THAN 100MG PER SERVING, GRADE A, 6/#10 | | | | MCLANE EXPRESS | | | |
| 71 | CANS | Υ | | CS | INCORPORATED | 800 | \$17.63 | \$14,104.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 800 | \$17.98 | \$14,384.00 |
| | | | | cs | BUSH BROTHERS & COMPANY | 800 | \$19.42 | \$15,536.00 |
| | | | | | CONAGRA FOODS | | | |
| | | | | CS | INCORPORATED | 800 | \$26.07 | \$20,856.00 |
| 70 | POTATOES, INSTANT, 10/29.3 OZ POUCHES, PREMIUM PEARLS, BASICAL | | 270 | | *ADVANCE SALES & MARKETING | 7000 | | |
| 72 | #10169 OR EQUAL | N | 3TQ | CS | INCORPORATED | 7000 | | |
| | | Υ | | CS | BASIC AMERICAN INC DBA BASIC AMERICAN FOODS | 7000 | \$37.35 | \$261,450.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 7000 | \$38.63 | \$270,410.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 7000 | \$48.38 | \$338,660.00 |
| | PUDDING CUP, CHOCOLATE, | NO | | | CONAGRA FOODS | | • | , , |
| 73 | INDIVIDUALLY PKGD | AWARD | | cs | INCORPORATED | 500 | \$12.56 | \$6,280.00 |
| | | | | cs | ADVANTAGE WAYPOINT | 500 | \$16.81 | \$8,405.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$17.15 | \$8,575.00 |
| | PUDDING CUP, VANILLA, | NO | | | CONAGRA FOODS | | | . , |
| 74 | INDIVIDUALLY PACKAGED | AWARD | | cs | INCORPORATED | 500 | \$12.56 | \$6,280.00 |
| | | | | cs | ADVANTAGE WAYPOINT | 500 | \$16.81 | \$8,405.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$17.15 | \$8,575.00 |
| 75 | RANCH (BUTTERMILK) DRESSING MIX, 12/1 GAL PER CS, LOW SODIUM PREFERRED | N | зто | cs | *ADVANCE SALES & MARKETING INCORPORATED | 200 | | |

| | | Award | | | | | | Extended |
|-------|---|---------|--------|-----|---|------|---------|-------------|
| Line# | Item Description | (Y / N) | Reason | UOM | Supplier | Qty | Price | Price |
| | | Υ | | cs | KENT PRECISION FOODS INCORPORATED | 200 | \$16.40 | \$3,280.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$30.88 | \$6,176.00 |
| 76 | RAISINS, FLAVORED, NO ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ BAG, 250/CS | Υ | | cs | BYRNE BROTHERS FOODS, INC | 1500 | \$25.98 | \$38,970.00 |
| | | | | cs | GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS | 1500 | \$56.00 | \$84,000.00 |
| | | | | cs | GLOBAL FOODS INCORPORATED | 1500 | \$58.80 | \$88,200.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$63.55 | \$95,325.00 |
| 77 | RANCH DRESSING, P.C. 1 OZ, 100/CS | N | зто | cs | MCLANE EXPRESS INCORPORATED | 500 | \$10.37 | \$5,185.00 |
| | | N | 1NL | cs | BYRNE BROTHERS FOODS, INC | 500 | \$13.58 | \$6,790.00 |
| | | Y | | cs | ACH FOOD COMPANIES | 500 | \$23.45 | \$11,725.00 |
| 78 | RANCH DRESSING, P.C. 12 GRAM, 200/CS | N | 9PS | cs | BYRNE BROTHERS FOODS, INC | 800 | \$6.98 | \$5,584.00 |
| | | Y | | cs | MCLANE EXPRESS INCORPORATED | 800 | \$8.11 | \$6,488.00 |
| 79 | RED PEPPERS, DICED, PEELED, SWEET, 24/303 CANS | Y | | | BYRNE BROTHERS FOODS, INC | 50 | \$38.00 | \$1,900.00 |
| | RICE, BROWN, INFUSED, MEXICAN FLAVOR, 51% WHOLE GRAIN, PRE- SEASONED, QUICK PREP TIME, LOW SODIUM | | | | | | | |
| 80 | PREFERRED, FOOTHILL FARMS OR EQUAL | N | 4NS | | BYRNE BROTHERS FOODS, INC | 1500 | \$11.00 | \$16,500.00 |
| | | N | 4NS | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$23.83 | \$35,745.00 |
| | | Υ | | cs | KENT PRECISION FOODS | 1500 | \$27.28 | \$40,920.00 |
| 81 | RICE, BROWN, INFUSED, PILAF STYLE, 51% WHOLE GRAIN, PRE-SEASONED ROASTED CHICKEN FLAVOR, QUICK PREP TIME, LOW SODIUM PREFERRED, UNCLE | Y | | cs | MCLANE EXPRESS | 1500 | \$29.63 | \$44,445.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1500 | \$29.98 | \$44,970.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|---|------|---------|-------------------|
| 82 | RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN, 25# BAG, PAR BOILED, UNCLE BEN'S OR EQUAL | Υ | Reason | | BYRNE BROTHERS FOODS, INC GOOD SOURCE SOLUTIONS DBA TOOLS | 500 | \$10.68 | \$5,340.00 |
| | | | | cs | FOR SCHOOLS | 500 | \$12.95 | \$6,475.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$21.81 | \$10,905.00 |
| | | | | cs | INDIAN HARVEST SPECIALTIFOODS INC | 500 | \$24.00 | \$12,000.00 |
| 83 | MAYONNAISE, LIGHT, P.C. 12 GRAM, 75 CS PER ORDER | Y | | cs | MCLANE EXPRESS INCORPORATED | 500 | \$9.13 | \$4,565.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 500 | \$13.75 | \$6,875.00 |
| 84 | SALAD OIL, STATE PACK | Υ | | EA | BYRNE BROTHERS FOODS, INC | 300 | \$40.28 | \$12,084.00 |
| 85 | SAUCE, BUFFALO WING, BLEND OF CAYENE PEPPER, VINEGAR, AND MARGARINE, NO MORE THAN 400MG SODIUM PER 1 TBSP, ZERO TRANS FAT, 4/1 GAL | Y | | CS | BYRNE BROTHERS FOODS, INC | 100 | \$34.49 | \$3,449.00 |
| 86 | SEASONING, RANCH FLAVOR STATION, 8 CUPS/CS, FOOTHILL FARMS #V480- 02190 OR EQUAL | Y | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$23.70 | \$1,185.00 |
| 87 | SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, 12/1# | Υ | | EA | CUSTOM CULINARY INCORPORATED | 1000 | \$3.94 | \$3,935.00 |
| | | | | EA | BYRNE BROTHERS FOODS, INC | 1000 | \$56.58 | \$56,580.00 |
| 88 | SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, 12/1# | Υ | | EA | CUSTOM CULINARY INCORPORATED | 1000 | \$3.29 | \$3,293.00 |
| | | | | EA | BYRNE BROTHERS FOODS, INC | 1000 | \$43.58 | \$43,580.00 |
| 89 | SOUP BASE, CREAM, DRY MIX, NO TRANS FAT, NO MORE THAN 9GR FAT AND 950 MG SODIUM PER 1/3 CUP SERVING, LOWER TOTALS PREFERRED | N | 4NS | cs | C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS | 1000 | \$24.00 | \$24,000.00 |
| | | Y | | cs | KENT PRECISION FOODS INCORPORATED | 1000 | \$26.22 | \$26,220.00 |
| | | | | cs | CUSTOM CULINARY INCORPORATED | 1000 | \$28.01 | \$28,010.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$35.98 | \$35,980.00 |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|------|-----------------------------------|------|-----------------|--------------------|
| | PASTA, SPAGHETTI, CUT, WHOLE WHEAT, 20# BOX, | | | | | | | |
| 90 | BARILLA OR EQUAL | Υ | | CS | BARILLA AMERICA INC | 1000 | \$14.65 | \$14,650.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$15.03 | \$15,030.00 |
| | | | | - 55 | | 1000 | ψ10.00 | ψ10,000.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$22.97 | \$22,970.00 |
| | SPORTS DRINK, LOW CALORIE, G2 GLACIER | | | | | | | |
| 91 | FREEZE, NO MORE THAN 10 CAL PER 20oz BTL | N | 1NL | cs | ASPIRE BEVERAGE COMPANY LLC | 1500 | \$6.59 | \$9,885.00 |
| | | | | | MCLANE EXPRESS | | | |
| | | Υ | | CS | INCORPORATED | 1500 | \$10.09 | \$15,135.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | | BYRNE BROTHERS | 1000 | | |
| | SPORTS DRINK, LOW | | | cs | FOODS, INC | 1500 | \$20.20 | \$30,300.00 |
| | CALORIE, G2 MIXED BERRY CLEAR, NO MORE THAN 10 | | | | ASPIRE BEVERAGE | | | |
| 92 | CAL PER 20oz BTL | N | 1NL | CS | COMPANY LLC | 1500 | \$6.59 | \$9,885.00 |
| | | | | | MCLANE EXPRESS | | | • |
| | | Υ | | CS | INCORPORATED | 1500 | \$10.09 | \$15,135.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | | KENT PRECISION FOODS | | | |
| | | | | cs | INCORPORATED | 1500 | \$18.28 | \$27,420.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 1500 | \$23.73 | \$35,595.00 |
| | SPORTS DRINK, LOW | | | - 03 | FOODS, INC | 1300 | φ 2 3.73 | \$33,393.00 |
| 93 | CALORIE, G2 ORANGE, NO MORE THAN 10 CAL PER 20oz | | 4811 | 00 | ASPIRE BEVERAGE COMPANY LLC | 4500 | \$6.59 | ¢ 0 995 00 |
| 93 | BTL | N | 1NL | CS | | 1500 | \$6.59 | \$9,885.00 |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$10.09 | \$15,135.00 |
| | | | | | *THE MASTERS | | | |
| | | | | CS | DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | cs | KENT PRECISION FOODS INCORPORATED | 1500 | \$18.28 | \$27,420.00 |
| | | | | | BYRNE BROTHERS | | | · |
| | SPORTS DRINK, LOW | | | cs | FOODS, INC | 1500 | \$23.37 | \$35,055.00 |
| | CALORIE, G2 FRUIT PUNCH, NO MORE THAN 10 CAL PER | | | | ASPIRE BEVERAGE | | | |
| 94 | 20oz BTL | N | 1NL | cs | COMPANY LLC | 1500 | \$6.59 | \$9,885.00 |

| 1:# | Itaan Daaanintian | Award | Bassan | UOM | Complian | 04 | Deine | Extended |
|-------|--|----------|----------|-----|-----------------------------------|------|---------|--------------------|
| Line# | Item Description | (Y / N) | Reason | UOM | Supplier | Qty | Price | Price |
| | | | | | MCLANE EXPRESS | | | |
| | | Υ | | CS | INCORPORATED | 1500 | \$10.09 | \$15,135.00 |
| | | | | | *THE MASTERS | | | |
| | | | | cs | DISTRIBUTION SYSTEMS | 1500 | | |
| | | | | | KENT PRESIDENT FOODS | | | |
| | | | | cs | KENT PRECISION FOODS INCORPORATED | 1500 | \$18.28 | \$27,420.00 |
| | | | | | | | , | , , |
| | | | | -00 | BYRNE BROTHERS | 4500 | ¢00.07 | \$25.055.00 |
| | | | | CS | FOODS, INC | 1500 | \$23.37 | \$35,055.00 |
| | SUGAR SUBSTITUTE, P.C., 1 | | | | BYRNE BROTHERS | | | |
| 95 | GR., 2000/CS | Υ | | вх | FOODS, INC | 20 | \$17.00 | \$340.00 |
| | | | | | BYRNE BROTHERS | | | |
| 96 | SUGAR, BROWN, 25# BAGS | Y | | cs | FOODS, INC | 100 | \$19.98 | \$1,998.00 |
| | CHOAD CDANIII ATED DO | | | | DVDNE DDOTHEDO | | | |
| 97 | SUGAR, GRANULATED, P.C., 2.8 GR., 2000/CS | Υ | | cs | BYRNE BROTHERS FOODS, INC | 100 | \$15.98 | \$1,598.00 |
| | WHITE REFINED SUCROSE | | | | , | | | |
| 00 | OF SUGAR, NOT LESS THAN | v | | 00 | BYRNE BROTHERS | 200 | \$19.88 | £2.076.00 |
| 98 | 99.5%, 25# | Y | | CS | FOODS, INC | 200 | \$19.00 | \$3,976.00 |
| | SUGAR, WHITE, | | | | BYRNE BROTHERS | | | |
| 99 | GRANULATED, 25# | Y | | SK | FOODS, INC | 100 | \$17.38 | \$1,738.00 |
| | SPICE, SALT SUBSTITUTE, | | | | | | | |
| | IODIZED, MINIMUM 66.6% POTASSIUM CHLORIDE AND | | | | | | | |
| | MAXIMUM 33.3% SODIUM | | | | | | | |
| 100 | CHLORIDE, 12.35 OZ, LOSALT OR SIMILAR | Υ | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$49.12 | \$9,824.00 |
| 100 | SYRUP, PANCAKE AND | ı | | CS | FOODS, INC | 200 | \$49.1Z | φ9,024.00 |
| | WAFFLE, MAPLE FLAVOR, | | | | BYRNE BROTHERS | | | |
| 101 | PC. 1.5 OZ. | N | 3TQ | CS | FOODS, INC | 2500 | \$7.38 | \$18,450.00 |
| | | | | | MCLANE EXPRESS | | | |
| | | Υ | | cs | INCORPORATED | 2500 | \$9.83 | \$24,575.00 |
| | TACO BOAT, 51% WHOLE | | | | | | | |
| | GRAIN, STONE GROUND WHOLE CORN MASA, | | | | | | | |
| | PACKAGED IN CLEAR | | | | | | | |
| | WRAPPERS BOXED TO PREVENT BREAKAGE, | | | | | | | |
| | PROVIDE 130 CALORIES, NO | | | | *CHURCHFIELD TRADING | | | |
| 102 | TRANS FAT | Υ | | CS | CO. | 600 | | \$0.00 |
| | TACO SEASONING MIX, LOW SODIUM, LB. LAWRY'S OR | | | | KENT PRECISION FOODS | | | |
| 103 | EQUAL | Υ | | EA | INCORPORATED | 500 | \$17.50 | \$8,750.00 |
| | | | | | DVDNE DDOTUEDO | | | |
| | | | | EA | BYRNE BROTHERS FOODS, INC | 500 | \$21.00 | \$10,500.00 |
| | | | | | | | | |
| | | | | E^ | ACH FOOD COMPANIES | 500 | ¢24 04 | ¢12 420 00 |
| | [| <u> </u> | <u> </u> | EA | INC | 500 | \$24.84 | \$12,420.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|---|------|---------|-------------------|
| 104 | TACO SHELLS, CRISPY, 51% WHOLE GRAIN YELLOW CORN, 5 TO 6" LONG | Y | | cs | TYSON PREPARED FOODS | | \$10.58 | \$3,174.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 300 | \$15.00 | \$4,500.00 |
| 105 | TEA BAGS, 48/1 OZ OR 96/1 OZ, GOOD QUALITY | Υ | | вх | MCLANE EXPRESS INCORPORATED | 200 | \$9.75 | \$1,950.00 |
| | WHOLE GRAIN, BROWN | | | вх | BYRNE BROTHERS FOODS, INC | 200 | \$12.68 | \$2,536.00 |
| 106 | SUGAR CINNAMON, 1 PER PKG, NO SPRINKLES | Υ | | cs | MCLANE EXPRESS INCORPORATED | 3000 | \$31.13 | \$93,390.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 3000 | | |
| 107 | TOASTER PASTRIES, 51% WHOLE GRAIN, STRAWBERRY, 1 PER PKG, SPRINKLES NOT ACCEPTABLE | Y | | cs | MCLANE EXPRESS INCORPORATED | 3000 | \$31.13 | \$93,390.00 |
| | TOMATILLOS, CANNED, 6/#10 | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 3000 | | |
| 108 | PER CS, PREFER LOW SODIUM | Y | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$24.98 | \$4,996.00 |
| 109 | TOMATOES, DICED, CALIFORNIA PACKED FROM FRESH TOMATOES, 6/#10 CANS | Y | | cs | CONAGRA FOODS INCORPORATED | 200 | \$22.10 | \$4,420.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$28.25 | \$5,650.00 |
| 110 | TORTILLA CHIPS, 51% WHOLE GRAIN, 6 LB/CS, LABEL MUST STATE WHOLE GRAIN | Y | | cs | TYSON PREPARED FOODS | 5000 | \$6.57 | \$32,850.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 5000 | \$7.38 | \$36,900.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 5000 | | |
| | | | | cs | *ADVANCE SALES & MARKETING INCORPORATED | 5000 | | |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 5000 | \$14.89 | \$74,450.00 |
| 111 | VANILLA EXTRACT, QT. | Υ | | QT | BYRNE BROTHERS FOODS, INC | 400 | \$2.98 | \$1,192.00 |
| | | | | QT | MCLANE EXPRESS INCORPORATED | 400 | \$3.55 | \$1,420.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|------|---|-------|----------------|-------------------|
| 112 | VEGETABLE JUICE, SHELF STABLE BOXES WITH ATTACHED STRAW, 100% VEGETABLE AND FRUIT BLEND, 6.75 OZ, 70/CS | | | cs | APPLE AND EVE | 500 | \$9.72 | \$4,860.00 |
| 112 | BLEND, 6.75 OZ, 70/C5 | Υ | | CS | APPLE AND EVE | 500 | \$9.1 <i>2</i> | \$4,600.00 |
| | | | | cs | CAL-TEX CITRUS JUICE LLP | 500 | \$10.67 | \$5,335.00 |
| 113 | VINEGAR WHITE, 5% ACIDITY, 4/1 GAL. | Υ | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$8.68 | \$8,680.00 |
| 114 | WATER, BOTTLED 24/16.9oz, 19.8-20 GRAM BTLS CS | Υ | | cs | APANI SOUTHWEST INC | 18000 | \$4.79 | \$86,220.00 |
| | WATER, BERRY FLAVORED, NONCARBONATED, NO MORE THAN 5 CAL/8 OZ, PROPEL | | | | NESTLE WATERS NORTH | | | |
| 115 | BRAND OR SIMILIAR | N | зто | cs | AMERICA | 1000 | \$6.95 | \$6,950.00 |
| | | N | зто | cs | SUNNY DELIGHT BEVERAGES CO | 1000 | \$8.25 | \$8,250.00 |
| | | Υ | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$13.33 | \$13,330.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |
| 116 | WATER, BOTTLED, 24/16.9oz, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, NESTLE PURE LIFE, OZARKA, OR OTHER NATIONAL BRAND PREFERRED | N | зто | cs | APANI SOUTHWEST INC | 10000 | \$2.72 | \$27,200.00 |
| | | | 310 | | | | V | + , |
| | | Υ | | cs | NESTLE WATERS NORTH AMERICA | 10000 | \$2.80 | \$28,000.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 10000 | \$4.71 | \$47,100.00 |
| 117 | BREAKFAST BREAKS, CINNAMON TOAST CRUNCH, 51% WHOLE GRAIN, REDUCED SUGAR | N | 1NL | cs | MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES | 1000 | \$0.73 | \$730.00 |
| | REDUCED GOOAIN | 14 | TINL | - 55 | | 1000 | ψ0.13 | Ψ130.00 |
| | | N | 1NL | cs | GLOBAL FOODS INCORPORATED | 1000 | \$32.22 | \$32,220.00 |
| | | N | 1NL | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | - | |
| | | 14 | TIAL | - 55 | | .000 | | |
| | | N | 4NS | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$39.60 | \$39,600.00 |
| | | Υ | | cs | *ES FOODS | 1000 | | |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|--|------|---------|-------------------|
| 118 | MEAL BREAKS, HUMMUS CUP, ROASTED RED PEPPER, PRE-PACKAGED SUPPER MEAL, SHELF STABLE, ES FOODS OR EQUAL | Y | | cs | *ES FOODS | 500 | | |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 500 | | |
| 119 | MEAL BREAKS, CHEESE SPREAD CUPS, PRE- PACKAGED LUNCH MEAL, SHELF STABLE, ES FOODS #61430 OR EQUAL | Y | | cs | *ES FOODS | 500 | | |
| | | | | cs | THE MASTERS DISTRIBUTION SYSTEMS | 500 | \$59.10 | \$29,550.00 |
| 120 | MEAL BREAKS, CHEESE & BEEF STICKS, PRE- PACKAGED SUPPER MEAL, SHELF STABLE, ES FOODS OR EQUAL | Y | | cs | *ES FOODS | 500 | | |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 500 | | |
| 121 | MEAL BREAKS, CHIPS AND DIP, PRE-PACKAGED SUPPER MEAL, SHELF STABLE, ES FOODS OR EQUAL | Y | | cs | *ES FOODS | 500 | | |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 500 | | |
| 122 | MIX, TURKEY GRAVY, ADD WATER ONLY, MINIMUM 25 CAL, MAXIMUM 1 FAT GRAM PER 2 FLUID OZ SERVING | Υ | | cs | C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS | 200 | \$18.80 | \$3,760.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$20.00 | \$4,000.00 |
| | | | | cs | KENT PRECISION FOODS INCORPORATED | 200 | \$23.64 | \$4,728.00 |
| | | | | cs | *ADVANCE SALES & MARKETING INCORPORATED | 200 | | |
| | | | | cs | CUSTOM CULINARY INCORPORATED | 200 | \$28.30 | \$5,660.00 |
| 123 | OATMEAL BARS, APPLE, SOFT, 51% WHOLE GRAIN, INDIVIDUALLY PACKAGED, DARLINGTON APPLEWAYS OR EQUAL | NO AWARD | | cs | BYRNE BROTHERS FOODS, INC | 1000 | \$23.50 | \$23,500.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$36.85 | \$36,850.00 |
| | | | | cs | *THE MASTERS DISTRIBUTION SYSTEMS | 1000 | | |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|---|------|----------------|---------------------|
| | | | | cs | DARLINGTON COOKIE COMPANY INC | 1000 | \$55.12 | \$55,120.00 |
| 124 | RAISINS, INDIVIDUAL, 1.33 OZ BOX, 144/CASE | Υ | | cs | BYRNE BROTHERS FOODS, INC | 1500 | \$25.98 | \$38,970.00 |
| | | | | cs | *CHURCHFIELD TRADING CO. | 1500 | | |
| | | | | cs | GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS | 1500 | \$26.56 | \$39,840.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$27.07 | \$40,605.00 |
| | | | | cs | GLOBAL FOODS INCORPORATED | 1500 | \$28.51 | \$42,765.00 |
| 125 | SAUCE, THAI CHILI, 4/5# PLASTIC BOTTLES OR SMALLER PACK | Y | | | BYRNE BROTHERS FOODS, INC | 50 | \$20.00 | \$1,000.00 |
| 126 | SLUSH DRINKS, BLUE RASPBERRY, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS SLUSH OR EQUAL | v | | CS | SUNNY SKY PRODUCTS LLC | 1000 | \$15.66 | \$15,660.00 |
| | SLUSH DRINKS, CHERRY LIMEADE, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS SLUSH OR | Y | | | SUNNY SKY PRODUCTS | | | |
| 127 | EQUAL SLUSH DRINKS, KIWI STRAWBERRY, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, COOL TROPICS RIPS SLUSH OR | Y | | CS | LLC SUNNY SKY PRODUCTS | 1000 | \$15.66 | \$15,660.00 <u></u> |
| 128 | EQUAL SLUSH DRINKS, SOUR APPLE, INDIVIDUALLY PACKAGED, 100% JUICE, | Y | | CS | LLC | 1000 | \$15.66 | \$15,660.00 |
| 129 | SHELF STABLE, COOL TROPICS RIPS SLUSH OR EQUAL | Υ | | cs | SUNNY SKY PRODUCTS LLC | 1000 | \$15.66 | \$15,660.00 |
| 130 | SEASONING, FIESTA LIME FLAVOR STATION, 8 CUPS/CS, FOOTHILL FARMS #V481-02190 OR EQUAL | Y | | cs | KENT PRECISION FOODS | 50 | \$19.93 | \$996.50 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$21.41 | \$1,070.50 |
| | | | | cs | ACH FOOD COMPANIES | 50 | \$76.09 | \$3,804.50 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|--------------------------------------|-----|----------|-------------------|
| | SEASONING, CHILI CHEESE FLAVOR STATION, 8 CUPS/CS, FOOTHILL FARMS #V485-02190 OR EQUAL | Y | | | KENT PRECISION FOODS | 50 | \$20.06 | \$1,003.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$21.54 | \$1,077.00 |
| 132 | SEASONING, GARLIC & HERB BLEND, 12 CUPS/CS, MRS DASH #J058-S6900 OR EQUAL | Y | | cs | KENT PRECISION FOODS INCORPORATED | 50 | \$41.75 | \$2,087.50 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$44.44 | \$2,222.00 |
| | | | | cs | ACH FOOD COMPANIES | 50 | \$82.99 | \$4,149.50 |
| 133 | SEASONING, SPICY JALAPENO BLEND, 6 CUPS/CS, MRS DASH #J094- DB900 OR EQUAL | Y | | cs | KENT PRECISION FOODS | 50 | \$25.96 | \$1,298.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$27.94 | \$1,397.00 |
| 134 | SEASONING, CHIPOTLE BLEND, 15 CUPS/CS, MRS DASH #J095-S6900 OR EQUAL | Υ | | cs | MAGIC SEASONING BLENDS LLC | 50 | \$31.94 | \$1,597.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 50 | \$32.21 | \$1,610.50 |
| | | | | cs | KENT PRECISION FOODS INCORPORATED | 50 | \$41.75 | \$2,087.50 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$44.22 | \$2,211.00 |
| | | | | cs | ACH FOOD COMPANIES | 50 | \$105.84 | \$5,292.00 |
| 135 | SEASONING, LEMON AND CRACKED PEPPER, NO SALT, NO SUGAR, 6/16OZ OR SIMILAR, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL | N | 1NL | cs | KENT PRECISION FOODS | 100 | \$41.75 | \$4,175.00 |
| | | N | 1NOL | cs | BYRNE BROTHERS FOODS, INC | 100 | \$53.20 | \$5,320.00 |
| | | Υ | | cs | MAGIC SEASONING BLENDS LLC | 100 | \$59.12 | \$5,912.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 100 | \$59.41 | \$5,941.00 |
| | | | | cs | ACH FOOD COMPANIES | 100 | \$72.36 | \$7,236.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|--------------------------------|-----|----------------|-------------------|
| 136 | SEASONING, TOASTED ONION & GARLIC, 6/16 OZ OR SIMILAR, NO SALT, NO SUGAR, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL | Y | | CS | MAGIC SEASONING BLENDS LLC | 50 | \$32.55 | \$1,627.50 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$35.60 | \$1,780.00 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 50 | \$35.69 | \$1,784.50 |
| | | | | cs | ACH FOOD COMPANIES | 50 | \$82.99 | \$4,149.50 |
| 137 | SEASONING, PIZZA & PASTA MAGIC, 6/16 OZ OR SIMILAR, LOW SALT, NO SUGAR, CHEF PAUL MAGIC SEASONING BLEND OR EQUAL | Y | | cs | MAGIC SEASONING BLENDS LLC | 50 | \$40.53 | \$2,026.50 |
| | | | | cs | MCLANE EXPRESS INCORPORATED | 50 | \$44.13 | \$2,206.50 |
| | SOY MILK, VANILLA, 24/8oz | | | cs | ACH FOOD COMPANIES | 50 | \$74.41 | \$3,720.50 |
| 138 | CONTAINERS OR SIMILAR, PACIFIC NATURAL FOOD OR SUNRICH BRANDS ONLY | Y | | cs | BYRNE BROTHERS FOODS, INC | 100 | \$18.85 | \$1,885.00 |
| 139 | SPICE, PEPPER BLACK, REGULAR GROUND, 5lb | Y | | CN | BYRNE BROTHERS FOODS, INC | 200 | \$32.80 | \$6,560.00 |
| | | | | CN | ACH FOOD COMPANIES | 200 | \$34.55 | \$6,910.00 |
| | SPICE, CHILI POWDER, | | | CN | MCLANE EXPRESS INCORPORATED | 200 | \$37.95 | \$7,590.00 |
| 140 | GROUND, MILD ROBUST FLAVOR, 51b OR LESS CONTAINER | Υ | | CN | MCLANE EXPRESS INCORPORATED | 200 | \$4.51 | \$902.00 |
| | | | | CN | BYRNE BROTHERS FOODS, INC | 200 | \$13.48 | \$2,696.00 |
| | | | | CN | ACH FOOD COMPANIES | 200 | \$31.38 | \$6,276.00 |
| 141 | SPICE, CUMIN, GROUND, 1Ib OR LESS CONTAINER | Υ | | EA | BYRNE BROTHERS FOODS, INC | 100 | \$2.98 | \$298.00 |
| | | | | EA | MCLANE EXPRESS INCORPORATED | 100 | \$5.91 | \$591.00 |

| | | Award | | | | | | Extended |
|-------|--|---------|--------|-----|--------------------------------|-----|----------------|--------------------|
| Line# | Item Description | (Y / N) | Reason | UOM | Supplier | Qty | Price | Price |
| | | | | EA | ACH FOOD COMPANIES | 100 | \$32.64 | \$3,264.00 |
| 142 | SPICE, FAJITA, LOW SODIUM, NO MSG, 11b PACKAGES | Υ | | PK | KENT PRECISION FOODS | 500 | \$11.49 | \$5,745.00 |
| | | · | | | BYRNE BROTHERS FOODS, INC | 500 | \$25.98 | \$12,990.00 |
| | | | | PK | MCLANE EXPRESS INCORPORATED | 500 | \$33.83 | \$16,915.00 |
| | | | | | ACH FOOD COMPANIES | 500 | \$70.58 | \$35,290.00 |
| | | | | FK | INC | 300 | \$70.56 | \$33,290.00 |
| 143 | SPICE, GRANULATED GARLIC, 5lb | Υ | | CN | MCLANE EXPRESS INCORPORATED | 200 | \$26.97 | \$5,394.00 |
| | | | | CN | ACH FOOD COMPANIES | 200 | \$27.55 | \$5,510.00 |
| | | | | CN | BYRNE BROTHERS FOODS, INC | 200 | \$99.98 | \$19,996.00 |
| 144 | SPICE, GRANULATED ONION, 5lb | Y | | CN | MCLANE EXPRESS INCORPORATED | 500 | \$5.23 | \$2,615.00 |
| | | | | CN | ACH FOOD COMPANIES | 500 | \$30.99 | \$15,495.00 |
| | | | | CN | BYRNE BROTHERS FOODS, INC | 500 | \$95.48 | \$47,740.00 |
| 145 | SPICE, ITALIAN SEASONING, NO ADDED SALT, 1 lb CONTAINERS | Υ | | cs | MCLANE EXPRESS INCORPORATED | 50 | \$3.35 | \$167.50 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$17.78 | \$889.00 |
| | | | | cs | ACH FOOD COMPANIES | 50 | \$39.26 | \$1,963.00 |
| 146 | SPICE, PAPRIKA, LIGHT, 1 LB. | Υ | | CN | MCLANE EXPRESS INCORPORATED | 75 | \$5.11 | \$383.25 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 75 | \$19.38 | \$1,453.50 |
| | | | | CN | ACH FOOD COMPANIES | 75 | \$29.46 | \$2,209.50 |
| 147 | SPICE, PARSLEY, DRIED, 1 lb OR LESS CONTAINERS | Υ | | EA | MCLANE EXPRESS INCORPORATED | 600 | \$7.13 | \$4,278.00 |
| | | | | EA | BYRNE BROTHERS FOODS, INC | 600 | \$7.18 | \$4,308.00 |

| Line# | Item Description | Award (Y / N) | Reason | UOM | Supplier | Qty | Price | Extended Price |
|-------|--|------------------|--------|-----|---|-------|---------|-------------------|
| | | | | EA | ACH FOOD COMPANIES | 600 | \$9.09 | \$5,454.00 |
| 148 | SPICE, PEPPER, RED CRUSHED, BULK | Υ | | cs | MCLANE EXPRESS INCORPORATED | 50 | \$4.25 | \$212.50 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 50 | \$19.58 | \$979.00 |
| | | | | cs | ACH FOOD COMPANIES | 50 | \$23.04 | \$1,152.00 |
| 149 | SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS | Υ | | cs | MCLANE EXPRESS INCORPORATED | 200 | \$13.25 | \$2,650.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 200 | \$13.75 | \$2,750.00 |
| 150 | SPORTS DRINK, G2 LEMON- LIME, LOW CALORIE, NO MORE THAN 10 CAL PER 20oz BOTTLE | N | 1NL | cs | ASPIRE BEVERAGE COMPANY LLC | 1500 | \$6.59 | \$9,885.00 |
| | | γ | | cs | MCLANE EXPRESS INCORPORATED | 1500 | \$10.09 | \$15,135.00 |
| 151 | TORTILLAS, CORN, 51% WHOLE GRAIN CORN, 4.5", 6/5Oct CS OR SIMILIAR | Y | | cs | MCLANE EXPRESS INCORPORATED | 2000 | \$10.63 | \$21,260.00 |
| | | | | cs | TYSON PREPARED FOODS | 2000 | \$12.86 | \$25,720.00 |
| | | | | cs | BYRNE BROTHERS FOODS, INC | 2000 | \$15.38 | \$30,760.00 |
| 152 | TORTILLA CHIPS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN CORN, 80/CS, EL SABROSO (SNAK KING) OR EQUAL | Y | | CS | *ADVANCE SALES & MARKETING INCORPORATED | 13000 | | |
| | | | | cs | *CHURCHFIELD TRADING CO. | 13000 | | \$0.00 |
| 153 | WATER, GRAPE FLAVOR, NONCARBONATED, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR | N | зто | cs | NESTLE WATERS NORTH | 1000 | \$6.95 | \$6,950.00 |
| | | Y | 314 | cs | MCLANE EXPRESS INCORPORATED | 1000 | \$13.33 | \$13,330.00 |
| 154 | WATER, KIWI/STRAWBERRY FLAVORED, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR | N | зто | cs | NESTLE WATERS NORTH | 1000 | \$6.95 | \$6,950.00 |
| .0. | SHIP IT | Y | 314 | | MCLANE EXPRESS INCORPORATED | 1000 | \$13.33 | |

| Line# | Item Description | Award (Y / N) | Reason | иом | Supplier | Qty | Price | Extended Price |
|-------|---|------------------|--------|-----|-----------------------------|------|---------|-------------------|
| | WATER, LEMON FLAVORED, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR | Y | | | MCLANE EXPRESS INCORPORATED | 1000 | \$13.33 | \$13,330.00 |